

## Your quote is ready for purchase.

Complete the purchase of your personalized quote through our secure online checkout before the quote expires on **Oct. 12**, **2025**.

You can download a copy of this quote during checkout.

## Place your order

Quote Name:

Quote No.

Total

Customer #

Quoted On

Expires by

South/Capitol Elem Staff
Replacement
3000194242576.3
\$85,642.00

1542904

Sep. 12, 2025
Oct. 12, 2025
State of Toyas Department

State of Texas Department
Contract Name of Information Resources

(TX DIR)

Contract Code C000001269299
Customer Agreement # DIR-CPO-5792
Deal ID 20590327

Sales Rep Phone Email

**Billing To** 

Cody Long 1(800) 4563355, 6180336 Cody\_Long@Dell.com ACCOUNTS PAYABLE LEVELLAND ISD 704 11TH ST LEVELLAND, TX 79336-5400

Message from your Sales Rep

Please use the Order button to securely place the order with your preferred payment method online. You may contact your Dell sales team if you have any questions. Thank you for shopping with Dell.

Regards, Cody Long

Product	Unit Price	Quantity	Subtotal
Dell Pro 14 Plus PB14250	\$1,029.00	60	\$61,740.00
Dell EcoLoop Pro Backpack - CP5723	\$34.90	60	\$2,094.00
Dell Active Pen - PN5122W	\$24.00	60	\$1,440.00
Dell Pro 27 Plus USB-C Hub Monitor - P2725HE	\$206.00	60	\$12,360.00
Dell Pro 24 All-in-One (65W) QC24250	\$866.00	8	\$6,928.00
Dell Wired Keyboard - KB216 and Wireless Mouse-WM126 (Black)	\$18.00	60	\$1,080.00

Subtotal: \$85,642.00
Shipping: \$0.00
Non-Taxable Amount: \$85,642.00
Taxable Amount: \$0.00
Estimated Tax: \$0.00

Total: \$85,642.00



Dell Pro 14 Plus PB14250		Unit Price \$1,029.00	Quantity 60	Subtotal \$61,740.00
Estimated delivery if purchased today: Sep. 22, 2025 Contract # C000001269299				
Customer Agreement # DIR-CPO-5792				
Description	SKU	Unit Price	Quantity	Subtotal
Dell Pro 14 Plus (PB14250) XCTO Base	210-BPDN	-	60	-
Intel(R) Core(TM) Ultra 5 236V vPro(R) (40 TOPS NPU, 8 cores, up to 4.7 GHz) with 16GB Memory	379-BFXG	-	60	-
Windows 11 Pro, Copilot+ PC	619-BBGL	-	60	-
16 GB: LPDDR5x, 8533 MT/s (onboard)	370-BCNS	-	60	-
Integrated Intel Arc graphics for Intel Core Ultra 5 236V vPro processor, 16 GB LPDDR5x memory	338-CRMN	-	60	-
512 GB SSD	400-BSLS	-	60	-
English, French, Spanish, Brazilian Portuguese	619-BBPD	-	60	-
2in1, 14", Touch, FHD+, 300 nit, ComfortView+, 100% sRGB, Pen Support, 5MP+IR Cam	391-BJRZ	-	60	-
No Fingerprint Reader, No Smart Card Reader, No RJ-45	346-BLCP	-	60	-
5MP HDR + IR Camera with Presence Detection, Facial Recognition, TNR, Camera Shutter, Microphone	319-BBJW	-	60	-
English US backlit Copilot key keyboard, 79-key	583-BMLQ	-	60	-
Intel(R) BE201 WLAN Driver	555-BLNW	-	60	-
Intel Wi-Fi 7 BE201, 2x2, 802.11be, Bluetooth 5.4 wireless card	555-BLMQ	-	60	-
3-cell, 55 Wh, ExpressCharge Capable, ExpressCharge Boost Capable	451-BDKX	-	60	-
65W AC adapter, USB Type-C	492-BDTG	-	60	-
E4 Power Cord 1M for US	470-BCXK	-	60	-
Quick Start Guide	340-DSJH	-	60	-
Documentation	340-DNBV	-	60	-
ENERGY STAR Qualified	387-BBLW	-	60	-
Custom Configuration	817-BBBB	-	60	-
LNL CPU+65W Adapter,2n1	340-DTMV	-	60	-
EPEAT 2018 Registered (Gold)	379-BDZB	-	60	-
Intel(R) vPro(R) Enterprise Technology Enabled	631-BBZX	-	60	-
No WWAN (WLAN only) Tray, No RJ-45, 2-in-1	321-BLPC	-	60	-
Intel(R) Connectivity Performance Suite	640-BBTF	-	60	-
iRST not selected	409-BCWL	-	60	-
Intel Core Ultra 5 vPro Processor Label	389-FJMH	-	60	-
Onsite/In-Home Service After Remote Diagnosis, 15 Months	714-0428	-	60	-
Onsite/In-Home Service After Remote Diagnosis, 24 Months Extended	714-0435	-	60	-
Dell Limited Hardware Warranty	714-0464	-	60	-
Dell Limited Hardware Warranty Extended Year(s)	975-3461	-	60	-
Activate Your Microsoft 365 For A 30 Day Trial	630-ABBT	-	60	-
Dell Additional SW - Dell Pro Laptop	658-BFVB	-	60	-

Dell EcoLoop Pro Backpack - CP5723 Estimated delivery if purchased today: Sep. 19, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792		Unit Price \$34.90	Quantity 60	Subtotal \$2,094.00
Description	SKU	Unit Price	Quantity	Subtotal
Dell EcoLoop Pro Backpack - CP5723	460-BDKH	-	60	-
Dell Active Pen - PN5122W Estimated delivery if purchased today: Sep. 19, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792		Unit Price \$24.00	Quantity 60	Subtotal \$1,440.00
Description	SKU	Unit Price	Quantity	Subtotal
Dell Pro Plus Active Pen - PN5122W  Dell Pro 27 Plus USB-C Hub Monitor - P2725HE Estimated delivery if purchased today:	750-ADQK	- Unit Price \$206.00	60 <b>Quantity</b> <b>60</b>	Subtotal \$12,360.00
Sep. 19, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792				
Description	SKU	Unit Price	Quantity	Subtotal
Dell Pro 27 Plus USB-C Hub Monitor - P2725HE	210-BMFQ	-	60	-
Dell Limited Hardware Warranty	814-5380	-	60	-
Advanced Exchange Service, 3 Years	814-5381	-	60	-
		Unit Price	Quantity	Subtotal
Dell Pro 24 All-in-One (65W) QC24250 Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792		\$866.00	8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299	sku			
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792	<b>SKU</b> 338-CRZH	\$866.00	8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up		\$866.00	8 Quantity	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT	338-CRZH	\$866.00	8 Quantity 8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd	338-CRZH 619-BBQT	\$866.00	Quantity  8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC	338-CRZH 619-BBQT 370-BCWF	\$866.00	Quantity  8  8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD	338-CRZH 619-BBQT 370-BCWF 400-BSWY	\$866.00	Quantity  8  8  8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD  Thermal Pad, Screw and Rubber for SSD	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK	\$866.00	8 8 8 8 8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC  512GB SSD  Thermal Pad, Screw and Rubber for SSD Integrated Graphics	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK 490-BKSX	\$866.00	8  8  8  8  8  8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD  Thermal Pad, Screw and Rubber for SSD Integrated Graphics Screw for WLAN card Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK 490-BKSX 555-BIGS	\$866.00	8 8 8 8 8 8 8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD  Thermal Pad, Screw and Rubber for SSD Integrated Graphics Screw for WLAN card Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless card  Wireless Driver, Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be,	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK 490-BKSX 555-BIGS 555-BLWS	\$866.00	8  8  8  8  8  8  8  8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD Thermal Pad, Screw and Rubber for SSD Integrated Graphics Screw for WLAN card Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless card  Wireless Driver, Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless card  Dell Pro 24 All-in-One QC24250, 65W CPU, Touch, FHD HDR	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK 490-BKSX 555-BIGS 555-BLWS	\$866.00	8 8 8 8 8 8 8 8	\$6,928.00
Estimated delivery if purchased today: Sep. 25, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-5792  Description Intel(R) Core(TM) Ultra 5 245 (R) (13 TOPS NPU, 14 cores, up to 5.1GHz)  Windows 11 Pro, Natl Aca STANDARD. K12 EDU only. MSFT LOE Approval req'd  16 GB: 1 x 16 GB, DDR5, up to 5600 MT/s, non-ECC 512GB SSD  Thermal Pad, Screw and Rubber for SSD Integrated Graphics Screw for WLAN card Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless card  Wireless Driver, Intel(R) Wi-Fi 7 BE200, 2x2, 802.11be, Bluetooth(R) wireless card  Dell Pro 24 All-in-One QC24250, 65W CPU, Touch, FHD HDR Camera, 160W Bronze	338-CRZH 619-BBQT 370-BCWF 400-BSWY 412-ABEK 490-BKSX 555-BIGS 555-BLWS 555-BLWS	\$866.00	8  8  8  8  8  8  8  8  8  8  8	\$6,928.00

			Total:		\$85,642.00
			Subtotal: Shipping: Estimated Tax:		\$85,642.00 \$0.00 \$0.00
Dell Wired Keyboard - KB216 and (Black)	Wireless Mouse-WM126	203-BBIO	-	60	
Description		SKU	Unit Price	Quantity	Subtotal
Sep. 19, 2025 Contract # C000001269299 Customer Agreement # DIR-CPO-	•				
<b>Dell Wired Keyboard - KB216 and Wireless Mouse-WM126 (Black)</b> Estimated delivery if purchased today:		\$18.00	60	\$1,080.00	
			Unit Price	Quantity	Subtotal
Dell Pro 24 All-in-One (65W) QC2	4250	658-BFVX	-	8	-
Activate Your Microsoft 365 For A	30 Day Trial	630-ABBT	-	8	-
Onsite Service After Remote Diag	nosis 3 Years	716-2810	-	8	-
Dell Limited Hardware Warranty P	lus Service	716-2804	-	8	-
No Option Included		340-ACQQ	-	8	-
English, French, Spanish, Brazilia	n Portuguese	619-BBPD	-	8	-
Custom Configuration		817-BBBB	-	8	-
No vPro support		631-BCCL	-	8	-
EPEAT 2018 Registered (Silver)		379-BDTO	-	8	-
Dell Pro 24 All-in-One QC24250 6	5W	210-BPNV	-	8	-
Touch Panel		391-BJWB	-	8	-
Desktop BTO Standard shipment		800-BBIO	-	8	_
Intel Core Ultra 5 Processor Label		389-FGFR	-	8	-
Intel IRST Driver		658-BFVF	_	8	-
Regulatory Label, 160W Bronze, F	<sup>-</sup> SJ	389-FJSZ	_	8	-
Shipping Label	- /	389-BBUU	_	8	-
Package for Fixed/ HAS/ no stand	(DAO)	340-DTJG	_	8	_
DAO factory Information	TI W LINDIGU	340-DFWR	- -	8	_
Trusted Platform Module (Discrete	_	329-BBJL	- -	8	_
US Reese coin battery Package W	/arning label	389-FKHZ	- -	8	_
Quick Start Guide		379-БГТК 340-DTTS	-	8	_
Watch Dog SRV		379-BFYR	_	8	_
Documentation		340-DNBV	-	8	-
System Power Cord (Philipine/TH/	US)	450-AAOJ	-	8	-

## **Important Notes**

## **Terms of Sale**

This Quote will, if Customer issues a purchase order for the quoted items that is accepted by Supplier, constitute a contract between the entity issuing this Quote ("Supplier") and the entity to whom this Quote was issued ("Customer"). Unless otherwise stated herein, pricing is valid for thirty days from the date of this Quote. All products, pricing, and other information is based on the latest information available and is subject to change for any reason, including but not limited to tariffs imposed by government authorities. Supplier reserves the right to cancel this Quote and Customer purchase orders arising from pricing errors. Taxes and/or freight charges listed on this Quote are only estimates. The final amounts shall be stated on the relevant invoice. Additional freight charges will be applied if Customer requests expedited shipping. Please indicate any tax exemption status on your purchase order and send your tax exemption certificate to Tax\_Department@dell.com or ARSalesTax@emc.com, as applicable.

Governing Terms: This Quote is subject to: (a) a separate written agreement between Customer or Customer's affiliate and Supplier or a Supplier's affiliate to the extent that it expressly applies to the products and/or services in this Quote or, to the extent there is no such agreement, to the applicable set of Dell's Terms of Sale (available at <a href="https://www.dell.com/oemterms">www.dell.com/oemterms</a>), or for cloud/as-a-Service offerings, the applicable cloud terms of service (identified on the Offer Specific Terms referenced below); and (b) the terms referenced herein (collectively, the "Governing Terms"). Different Governing Terms may apply to different products and services on this Quote. The Governing Terms apply to the exclusion of all terms and conditions incorporated in or referred to in any documentation submitted by Customer to Supplier.

**Supplier Software Licenses and Services Descriptions**: Customer's use of any Supplier software is subject to the license terms accompanying the software, or in the absence of accompanying terms, the applicable terms posted on www.Dell.com/eula. Descriptions and terms for Supplier-branded standard services are stated at www.dell.com/servicecontracts/global or for certain infrastructure products at www.dellemc.com/en-us/customer-services/product-warranty-and-service-descriptions.htm.

Offer-Specific, Third Party and Program Specific Terms: Customer's use of third-party software is subject to the license terms that accompany the software. Certain Supplier-branded and third-party products and services listed on this Quote are subject to additional, specific terms stated on www.dell.com/offeringspecificterms ("Offer Specific Terms").

In case of Resale only: Should Customer procure any products or services for resale, whether on standalone basis or as part of a solution, Customer shall include the applicable software license terms, services terms, and/or offer-specific terms in a written agreement with the enduser and provide written evidence of doing so upon receipt of request from Supplier.

In case of Financing only: If Customer intends to enter into a financing arrangement ("Financing Agreement") for the products and/or services on this Quote with Dell Financial Services LLC or other funding source pre-approved by Supplier ("FS"), Customer may issue its purchase order to Supplier or to FS. If issued to FS, Supplier will fulfill and invoice FS upon confirmation that: (a) FS intends to enter into a Financing Agreement with Customer for this order; and (b) FS agrees to procure these items from Supplier. Notwithstanding the Financing Agreement, Customer's use (and Customer's resale of and the end-user's use) of these items in the order is subject to the applicable governing agreement between Customer and Supplier, except that title shall transfer from Supplier to FS instead of to Customer. If FS notifies Supplier after shipment that Customer is no longer pursuing a Financing Agreement for these items, or if Customer fails to enter into such Financing Agreement within 120 days after shipment by Supplier, Customer shall promptly pay the Supplier invoice amounts directly to Supplier.

Customer represents that this transaction does not involve: (a) use of U.S. Government funds; (b) use by or resale to the U.S. Government; or (c) maintenance and support of the product(s) listed in this document within classified spaces. Customer further represents that this transaction does not require Supplier's compliance with any statute, regulation or information technology standard applicable to a U.S. Government procurement.

For certain products shipped to end users in California, a State Environmental Fee will be applied to Customer's invoice. Supplier encourages customers to dispose of electronic equipment properly.

Electronically linked terms and descriptions are available in hard copy upon request.